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SSC CHSL (10+2) 2022

®* What is the number of straight lines in the following figure?

o fFrfeTRaa sTrenfa W Hitelt Y@t i Hean = 72

A.10
B. 12
C.13
D. 17



SSC CHSL (10+2) 2022

®* An accurate clock shows 7 a.m. Through how many degrees will the hour
hand rotate when the clock shows 1 p.m.?

o QEEW‘EI?QW a.m.ﬁ'@'l?l'bf%\_rlﬁ‘él?;f | pmﬁ@ﬁ%ﬁﬂ%iﬁﬂéﬁﬁﬁ
IEIR LN
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®27:125 ::64: ?
Z/ /; N2

3 5 @D
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®* Length : Meter : : Electric power : ?[SSC-CGL 2016]
* HaTE ; HieT : :%I'gﬁ?‘lﬁﬁ: ?

A.Calorie/ heTi
B. Kilogram/ fereTome

.Degree/f2T
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® In a certain code language, JUPITER is written as JVOJSFR. How will

NEPTUNE be written in that language? [SSC-CGL 2020]
S)¢2.

* Uk (T2 se WISTH, JUPITER T JVOJSFR forat Simat 21 }\IEPTUNE o
37 Tt H E fera smem? £ DU /
—*'a rp[( 7 R m
A=22(5 LolU) — B NGOUTOE.

DINFOSTOLE __
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® In a certain code language PEN is written as 321028. How will TUB be
written in that language? [SSC-CGL 2020]

202) 2
» usk ffora &e ‘JIIT'SITﬁ‘/PFII\IEIﬁfiZlOZS foraT St 21 TUB 1 39 9T & 7
foraT smee?
//‘ ; l; %—
32 [D2R
S < AA40422—

— D 33024
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®* Puneet walked 10 km straight in south direction from point R, then turned
right and walked 12 km and again turned right and walked 7 km straight.
In which direction is he from point R? [SSC-CGL 2017]

* gt g R & gferor fawm & 10 foreft witer <re, iRt oz o geat 12 foret
AT AT U ‘q’rﬁgmﬂ%sﬁrﬁrmaw | e fog RO TR feomd 2 2

R\ N
) W :1 | -~ /A/N orth-East/3T'R'qﬁ
Sg ‘B. South-West/gferor q@
C.North-West/3T- T1gH

D. South-East/S&10r -9
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* A truck goes 36 km north, then it turns west and goes 9 km, then it turns south
and goes 50 km, then it turns to its left and goes 9 km. Goes up to km. Where is
he now from his starting position? [SSC-CGL 2017]

* Uk ok 36 ToRHT 3T <hT TR SATAT 2, TRt g aferw skt TR g STaT 8 3R 9 fordt <k
T 2, TRt @rg gferor Y o7 g STaT § 3R 50 feret aeh strar 2, T o erot s
3ﬁ'{1=l's'?l'l?lT%3ﬁ'{9ﬁl'TH°fWGl'l?lT% | agmuwﬁm&aﬁrﬁ AT HBl & ?

A.14 km north I
"$0km
south
C.14 km sout
D.86 km, North
L #m 15k
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®* Eachof M, N, P, R and T got different marks in an examination. R got
more marks than M and T. N got less marks than P. Who among the
following got the highest marks at the third rank?

* M, N, P, R 3R T H & Ucdh h! Ueh AT H 3TeNT-3TeTT 3k (e 81 Rt M
IR T | ATereh 3ieh Tt Bl N i P ¥ oW 37k et € 390 9 foper e shdien
T AT 37k 3k fuar 8 2

A.N
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* Among four friends A, B, C and D, B is the lightest. C is heavier than D but
lighter than A, then who is heaviest?

* IR AT A, B,CWDﬁwﬁC,DﬁwrﬁﬁﬁmAﬁgm%,a”r

TqH AT RS 2 /

B.D
C.B
D.C
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*(i) A,B,C,D, E, F and G are playing cards while sitting in a circle around

a round table. 74& / \/ = (.
® (ii) D is not the neighbor of C and E. V > 97}<\>

~—

® (iii) A is the neighbor of B and C. ] / \ c 4 KE 5 0
® (iv) G who is second to the left of D is the neighbor of E and F.

* (i) A, B, C, D, E, F 3R G Teh T ¢t TR TMATRR oS FL AT @A L 5 |

* (i) CAATE KT USET D T2 2 | =\
TN
* (iii) B 3R C HTUSHT A 7 | (3 0/
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®* What is the position of C?
o C Y Rufa Fm 32

< A AH AR
B.E % {{d a1
\ N\ o
F o 2 &

T TR
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® Find the next term. [SSC-CHSL 2020]

* ITTAT U FTA hifaTU)
. ?
2, 8,15, 24, 36, 52,

NN
<SSV A78

2 & ¢+ S _ 63
C.83
LR A C D.13
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® Find the next term. [SSC-CHSL 2020]
* STTAT UE AT hITTT|

211,215, 231, 367, ?
¥ 0 E}if i
VR /°421

" C.296
D.312
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* If 4 cows give 4 boxes of milk in 4 days, then in how many days will 8 cows
give 8 boxes of milk?

aﬁ4wﬁ4ﬁqﬁ@ﬁ ar 8 T 8 Teaar ger feRa fom & it 2
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°* If '+' means '+'. °-' means 'x', x means '-' and '+-' means +, then answer
each question on this basis.

°aﬁ'@312?'_+'_%| ! SR 3T X', X T 3T - 3R '+ T A + 3, AT 3H
TR R Tk T hT 37X 2

® 325+25-8+-20=?

C.120

(0 ¢+ “'_ D.None of these
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® Pis niece of O. Q is R's aunt and S's sister. S is the father of R and the only
sibling of Q. T is the mother of R. Then how is P related to T?

* P,0 <hT Weftsit/siSiT 21 Q, R <Rl AT AR S <h

2T 21 S, R fuar 2 3iR Q

T SheATdT @erT 2l T, R h /14T 81 T P &t

T 9 T T 82

.Sister/dgd

B. Daughter@

" C.Nephew/sdI=TT
D. Son/seT
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¢ statement:

* All shirt are pant./a%t 37¢ U< 2
\ .

* Some pants are skirts./sh® Uc The 2

* All skirt are Kurta./ @1 The ghcli %I

® Conclusion:

*1.No shzx/t is sy{t @?WE@W%VQ
* 2. Some sly{rts are &}Kirts [hS S'Ii'{-_cl'z_é‘%l
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® If 16th January 2015 was Friday, then what was the day of the week on

16th January 2010?
* TS 16 TR 2015 Tt JEHAR AT, AT 16 T 2010 ST THTE T HiA-AT foT
a
— C A.Monday
B. Sunday
.~ . C C. Tuesday
IH(Z < !)% \/ D, Saturday

4 5%"?'&'\’\ @W
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®* Choose the correct mirror image of the given figure (X) from amongst the
four alternatives ?

* IR {oreheul ¥ | & T2 STTeh{d (X) SRl @& qUUT BT T2

(A) (B) (C) (D)
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® Four positions of the dice are shown then find out what will happen on the
surface opposite to 'O'?

o gTET ht oI Rearfaa faams 78 @ @ gra A i <0’ % fRradia das waT

oy
: > 0,\ D +

/ \

o/ \\ %

| 3 “ T

[ A /» ;
.'l




